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Define what is meant bv tire following terms:. / , t

:s
* L'inear Programmi,ng;

x objecti,ae functi,on of a Linear Programming Probiem.

A firm manufactures two proclucts ,4 ancl B on which tt proflts earriecl per unit

are Rs.3 ancl Rs.4 respectively. pu.ir procluct is processedlor t*o machines M1 and,

2. Product ,4 requires one minute of processirrg tirne on A.41ancl two minutes orr

2, wlrile B recluires one minute on Ml a,rid one minute on M2. Machinel M1 is

le for not urore than 7 hours and 30 rninutes, while machine M2 is availabie

10 hours during any working day Find the number of units of products ,4 and

be rnanufacturecl to get maxirnurn profit.

Si,mpler method to solve the following linear prograrnming problenr:

Z = Znt * 3r2* 44 subject to tiie constrairits:

3s, + 12* 4r3 < 600,

2q*4r2* 2ca > 480,

2't:1 -t 3l:2 * 323 : 549,

, iUS)0



3. Use Reui,sed, Si,rnpter Method, to soive the following Liriear Prograntrning

Mininrize Z : -4rr * rz + 2n 3 subject to the constraints:

2rt - 3r2 * 2u := 12,

*5rt+2x2*3r3>.4,

3tt - 2t:3: -1,

witere rt, fi2, ze 2 0,

4. Briefly explain lhe Vogel's A'p'prori,matron Method,.

Find the optimum solution by using Vogel's Approxirnation Method to the fol

bransportation probiem in which the cells contain the transportation cost in r

between clifferent cities. The supplies in the cities U, V, W and X are 40,

and 10 respectively and the ciemands in the cities A, B, C, D and E arc

15,20 and 5 respectively.

a

Briefly expiain the Hungari,an Method fbr solving assignment problems.

A small garment making unit has five tailors stitching five different types

ments. All the five tailors are capable of stitching all the five types of garr

The output per clay per tailor for each type of garrnent is given below:
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The piofits (Rs.) for each type of garment are 2,3, 2,3 and 4 respectively'

(i) Which type of garment should be a;ssigned to which tailor in order to maximize

the profit?

(ii) If tailor D is abserrt for a specified period and no other substitute tailor

available, what siroulcl be the optimal assignrnent?

6. Find the rttaximurn flow for tire following network by

(a) intuitive technique;

(b) Iabeling teciinique.
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